EAGRAROBREERT — 2 N— ABISH —F

202045220 (k) 2EEMASH

m C3= ¥7%4m%t ‘ [R&] B ‘ (] — | & (B) 14000 FHE
[xE£] 1 %:350,000F  2#%:98,000™  3#%&:49,000 M  43%&:35000MH  53#:28,000H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. S ff—5 .34, 1= 3] — IS (FE)
i 3| 3vET—7 o4 xm 1(3_4)5 1-1-1-1 | 40.3 3 g;s s
L:O0—-KAH+a7 B:IYENLAH KIFEBHS
¢ S s 5 | HHEH— 1:34.6 4-4-5-2 | 40.0 | — 4 457 | /IMYIEH (EBH)
2|8l10| 7177 —/SL=F 54.0 (1/2) © | @ IELTe5K
L:7UF—v B:T7-IKLTF— N L4535
se =y HERHNE :34. 54— . - IO#E (k)
sl1l1lv7v70-2 it 4 54.0,_ 1(314>8 5-5-4-4 | 40.3 1 (4_159) LB
R:Fh¥<=7128 B:FHY¥<7rPa RS
oS N . HEBX : -10-9- — FEHE (BM)
4 4| 7o v—d—k B 7 i 1(.13/42.)9 10-10-9-8 | 39.7 5 ;1_210) 715@?52
RTUNATA—H— BiA—U—FLAI FILsS
P = jt 8 | ENED 1:35.2 6-6-6-6 | 40.6 | — 7 454 | =EEBEZ (ER)
5/8/9|YA-Tr=r—L 54.0 (1 3/4) Cry | W) Zr-xbEva>
:vn7x B:XTUCH-IL Ya—7J7—L4L
C_ = . 4 5 | WHE#EX 1:35.2 3-3-3-4 |40.8| — 2 448 | RFI=(E (EE)
6l7lg|N\—T1—Fv>R 54.0 (7%3) (-5) | EAZA
R:id—IWKT7Ya—I B:Hvh HET7— L
N AR . 77~ _ I ()
7 0| TS TVEYY o7 iy 1.(335).7 7-7-7-7 | 40.8 8 (5_056) ;E;Mi;e
LTV FTFE2T1 BIRIANRAE YT Bllike]
S Do . @ S REELT : -0 - ioEE (FEk)
alzl 7= sk itr—n it 4 s (11.316/.20) 2-2-2-3 | 41.7 6 ;1_337) Stk
R:U—FHIIYL Bikyays—=>4 AEOHIS
N o K F 8 :36. -9-10~ . — IOyE= (k)
ol5l5| €12 —7 o4 X 1(326)3 9-9-10-9 | 41.1 9 :3:;2) s
L:)—=FH779> Bib=—/1IIVN hR 45
. o 5= S £ 6 | KA 1:36.6 8-8-8-10 |41.7| — 10 | 436 |WocisE (k)
EE 6| Ly Iy hITR 77| #s0 (1°172) b | 00 Tr-RhEVa
L:hI/RI4T B:xvX5—KT—47 HET7—L
® 1 —F—@EBIERL
1T=7r= 3,7,8,10,1,9,2,6,5,4
2a=5F= 3,7,8,10,1,9,2,6,5,4
Ja=9= 3,7,8,1,10,9,2,6,4,5
40—F— 3,10,7,(1,8),9,2,4,5,6
[ /N
B 3 570M 714K 3-10 750 e E 3-8 1,720M JEE 1-3-10 1,790
B B 3 210H =8 290M B = 3-10 3,060 3B 3-10-1 12,800
10 220M 1-10 370M B H 3-10 3,850
1 140/

ARICOVWTRDTEEERROODE. TR LI,




